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QUESTION 1

An administrator powers on a vCloud Automation Center Multi-Machine Service that includes
Machine A and Machine B. The application on Machine A does not start correctly and displays
the following error message:

Machine B not ready
What step should be taken to resolve this issue?

Change the startup order of the Multi-Machine Service.
Create a startup dependency in the Multi-Machine Service.
Define a startup delay in the Multi-Machine Service.

Adjust the startup approvals for the Multi-Machine Service.
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Answer: A

QUESTION 2

A vSphere administrator needs to increase the capacity of an existing Storage Distributed
Resource Scheduler (SDRS) datastore cluster.

The storage administrator has provisioned two new NFS datastores to be added to the cluster.
The vSphere administrator receives an error message, preventing the administrator from adding
the newly provisioned datastores to the cluster.

What is the likely reason that the action failed?

A. There are virtual machines running on the datastores being added to the cluster.
B. The datastores in the SDRS cluster are VMFS datastores.

C. The datastores in the existing cluster have hardware acceleration enabled and the new
datastores do not.

D. The SDRS cluster has not been placed into maintenance mode.

Answer: B

QUESTION 3

A vSphere administrator creates a new vSphere Distributed Switch. The administrator receives
notice from the service desk that a cluster of vSphere hosts has disconnected from vCenter
Server. This disconnect occurred immediately after the new switch was created.

- This vSphere Distributed Switch is the only distributed switch
managed by vCenter Server.

- The virtual machines are still functional and the applications are
still accessible by end users.

On the ESXi hosts, which step must the vSphere administrator take to allow vCenter Server to
reconnect?

A. Use the Direct Console User Interface to reattach the management vmnic to the appropriate
switch

B. Use the Direct Console User Interface to disable lockdown mode on each affected host
C. Use the ESXi Shell to restart the mgmt-vmware service on each affected host
D. Use the ESXi Shell to restart the vSphere Web Client service on each affected host

Answer: A
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QUESTION 4

Immediately after installing an ESXi host, an administrator needs to examine the following log
files:

- /var/log/hostd.log
- /var/log/vmkernel.log
- /var/log/vpxa.log

Which two techniques could an administrator use to examine these files? (Choose two.)

Using the Direct Console User Interface

Attaching a vSphere Client directly to the ESXi host
Attaching the vSphere Web Client directly to the ESXi host
Attaching the vSphere Client to the vCenter Server
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Answer: AB

QUESTION 5

A vSphere administrator has configured a virtual machine alarm to trigger a warning when the
condition Snapshot Size exceeds 1GB.

Which action should the administrator configure on the alarm to automatically resolve the
condition?

Delete Snapshot
Reset VM

Run a Command
Consolidate Snapshot
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Answer: C

QUESTION 6

Which configuration will block communication between two virtual machines on the same DMZ
network?

A. An isolated Private VLAN configured on a distributed switch and the two DMZ server virtual
machines connected to the same port group

B. Two different port groups created on a distributed switch and 1 DMZ server virtual machine
connected to each port group

C. Two different port groups created on a standard switch and 1 DMZ server virtual machine
connected to each port group

D. The security policy exception set to Reject for the switch to which the two DMZ server virtual
machines will be connected

Answer: A

QUESTION 7

An administrator needs to migrate a virtual machine from one datastore to another, but the virtual
machine has a snapshot. The virtual machine is running on an ESXi 5.x host.

Which action must the vSphere administrator take to ensure that the snapshot data remains
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intact?

Perform a standard Storage vMotion migration.

Consolidate the snapshot and then perform a Storage vMotion migration.

Perform a Storage vMotion migration and then copy the snapshot file to the new location.
Delete the snapshot and then perform the Storage vMotion migration.
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Answer: A

QUESTION 8

When a vSphere administrator attempts to remediate a host with Update Manager, the host is
unable to enter maintenance mode.

Which condition is likely preventing the host from entering maintenance mode?

A virtual machine on the host has a removable device connected.

A virtual machine on the host is configured to use Fault Tolerance.

A virtual machine is powered off and cannot be migrated to another host.
A virtual machine is configured with a local .vswp file.
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Answer: A

QUESTION 9

An application team is implementing a new solution in a vSphere environment. The vendor states
the application is memory intensive.

The application is very unstable when operating without adequate on-demand access to physical
memory. The application's virtual machines have been assigned to the Mission Critical resource
pool.

Which resource pool setting will help ensure the application has adequate access to memory?

Memory reservation

High memory share value
Unlimited memory
Expandable reservation
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Answer: A

QUESTION 10

A vCloud Automation Center administrator configures a virtual machine blueprint with a maximum
storage capacity of 50 GB. The virtual machine attached to that blueprint is provisioned with 15
GB of storage.

What happens when the virtual machine is deployed using the default settings?

The virtual machine is deployed with 15 GB of storage.

The virtual machine is not deployed.

The virtual machine disk is deployed with 50 GB of storage.

The user is prompted to reconfigure the virtual machine's storage.
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Answer: A
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QUESTION 11
A user needs to modify the threshold value of the Fault badge within vCenter Operations
Manager. What should the administrator do to enable the user to complete this operation?

Add the vCenter Operations Manager Admin privilege on the user in vCenter Server.
Modify the user's rights from the Access Rights tab.

Modify the group's rights from the Account tab.

Add the Adjust Badge Thresholds privilege on the user in vCenter Server.
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Answer: A

QUESTION 12

An administrator needs to change the network a virtual machine will attach to. The virtual
machine is deployed using vCloud Automation Center, but when the administrator attempts to
modify the configuration, the requested network is not displayed.

Why is the network unavailable in the interface?

A. ltis unavailable in the Provisioning Group.
B. Itis unavailable in the Reservation.

C. lItis unavailable in the Blueprint.

D. Itis unavailable in the Build Profile.
Answer: B

QUESTION 13

An administrator deploys vCenter Operations Manager for an environment consisting of 5,200
virtual machines. The appliance begins collecting data from the environment.

A week after deployment, when the administrator tries to connect to the user interface, a 404
error is displayed.

What is the most probable cause for the error?

The Ul virtual machine is out of memory.

The Ul virtual machine is out of disk space.

The Analytics virtual machine is out of memory.
The Analytics virtual machine is out of disk space.
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Answer: D
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